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Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

OSSR @ie iR Fott SR Teg ford -

(a) State whether ¢ (sigma) is a population
parameter or statistic.

o (sigma) STHEe® 2be (7 2fonfE Ie T4 |

(b) What is coefficient of variation?

AR 728 {2

(c) Define equally likely cases.
SR 9619 Jige ey |
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(d)

(e)

(9)

(b

0)

A23/180

(§t27%)

If A and B are two independent events,
P(Au B) = P(A) + P(B) — P(An B).

(Write True or False)

IMA HF B YOI o4 WAl =W, (A2
P(Au B) = P(A) + P(B) - P(An B).

(9= 1 =9 fordn)

What is meant by probability
distribution of a random variable?

Fftes var TSIl 354 Jferca I qom 2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

R S 246 I3 PR U F2

What 1S marginal probability
distribution?

ofes STeifer 364 % 2

Define purposive sampling.

TS aifesad e |

Mention two methods of random
sampling.

iR AfS6E o1 =l ey 47 |
If r=0-9, interpret the result.
It r =0-9 2¥, TR [ & q&H 2
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(k) What is the relation between mean,
median and mode?

TG, YN HF 3233 =0 F 2

() Define conditional probability.

FEAC TBIAeR FigE fors |
D fx
(m) E(X)= =

(Write True or False)

(% A w5 fodn)

(n) Write the probability distribution
function of Poisson distribution.

o6 547 TS A% Fe=Co] Tl |

(o) If two values of a variable in a series are
equal, how is the rank determined?

T @bl AR 5P JOI A G0 = (OC2 ¢
TR T @FCEME 4R 391 27 2

(p) What is scatter diagram?
o1 foq 2

(q) Define covariance.

A2HAFIR gl |
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(r) Show that E(c) = ¢, where cis a constant.

S A E(Q) = c, TS c T’ 9] FI9 |

2. Answer any five of the following questions :

2x5=10
Sod [ e #1601 o Ted o

(a) Distinguish between arithmetic mean
and harmonic mean.

ST oI F WF 781 & 1255 2

(b) If the values of a variable of a series are
multiplied by a constant, what will
happen to standard deviation?

7 Qo1 BeIFY IR G0l & SR <79 341
I, T [{e @M eeifds 27 2

(c) Under what conditions binomial

distribution tends to Poisson
distribution?

@EREAF 59 HYRS @*M IB4 6 IGAcE
TR = 2

(d) A card is drawn from a pack of well
suffled pack of cards. What is the
probability that it is either a king or a
spade?

BT BI64 (204 [l M 94 OHATS Bl I,
R R W A FAE QAR IR
T 2
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(e) Write two demerits of systematic
sampling.

Tafore AfSeaa 701 Spyfer fers |

(f) Distinguish between linear and
non-linear correlation.

CAR? WF IF IR e AL o9 |

(g) If the first quartile (Q;) =30 and third
quartile (Q3) =35, find coefficient of
quartile deviation.

MM A2 5T (Q)) =30 HF TOR oI
(Q3) =35 =, (SCTRTA HPUIX[E 724 E‘%{ezn :

(h) Write two properties of Poisson
distribution.

15 IG4 701 & fer< |

() Mention two variables whose correlation
coefficient is zero.
ﬁmﬁWWawwWﬂmw
I |

() What is moment?

g 52
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3. Answer any four of the following questions :
Sx4=20

wed i @11 vifao! 4=] Teq foe

(a) Show that standard deviation is
independent of change of origin but not
of scale. 5
(rsd @ I [Roa 79 RIS “[1 707
3 cFa AfRTET /1 Fo7 7= |

(b) There are 3 economists, 4 engineers and
2 statisticians. If 3 persons are chosen
at random for formation of a committee.
What is the probability that in the
committee there will be

(i) one from each profession;
(i) 2 economists and 1 statistician;
(i) all engineers? 2+2+1=5

3 w9 gAfefm, 4 & wfegm wF 2 w4
A %[ 3 G (& 91 S 1 I
2'F | Ao —

(i) TSP A CAT GG PR EIEe
o1 2

(i) 2 T JAASRM JF aq@ AR
PR BIfel 9 2

(i) 3 HCA2 AT @REA T F44 2
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(c) Prove that
E(aX £ bY) = aE(X) £ bE(Y) S

o1 F41 &, E(aX £ bY) = aE(X) £ bE(Y).

(d) What is skewness? Determine Karl

Pearson’s skewness from the following : S
Size ety b 2 SEA4E 1O
Frequency : 12 8 20 7 13

Srfeer 2 e/ SIferi=a =41 o1 Preaoa

Srfgor Tferean |

(e) Describe briefly different steps involved
in sample survey. O
efeTl 0

(/) In a S5-match one-day international
series involving India, two veteran
batsmen made the following scores : S

SRS W @Al A SRBHRI IR ¢ 4
TS R TH (EORNCA AR TN IARR 0T

fra €qe= -
Player Score
kel I
1st ODI 2nd ODI 3rd ODI 4th ODI Sth ODI
A ; 65 120 15 95 25
Bing: 46 69 80 65 45
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Identify the better batsman and more
consistent batsman in the series.

MRIATOIS (G @Ohcae @fe S %
PG (Ao6a A ot 41 |

(g9 Income of a group of 10000 persons
were found to be normally distributed
with mean ¥ 520 and standard deviation
is ¥60. Find—

(i) the number of persons having
income between ¥400 and ¥ 550;

(i) the lowest income of richest 500.

For a standard normal variate z, the area
under the curve between z=0 and
z=0-5is0-1915, the area between z=0
and z=1-645 is 0-4500 and the area
betweent=0and t=21s0-47725. o

10000 T23 S {3 AR [ [ AR
FECO TG 520 51 HWF @ (a9 60 51
CIET I |

(i) M 0% TR WA 400 51 =F 550
I qSS AT ?

(i) SqfEF W@ T 500 HR O fSoge
HoizeE I SR [FH w192
P0<2z<0-5 =0-1915,
P(O<z<1-645)=0-4500 5
P0<z<2)=0-47725.
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4. Answer any four of the following questions :
10x4=40

wod [ I B0 2pa Taq fo -

(a) Why is arithmetic mean known as ideal
average? State and prove the properties
of arithmetic mean. 2+8=10

sifafss oo few = o 3 I =2
AT 51ea (AFEPTHR TS S A9 0 |

(b) Show that AM=GM =HM. Calculate
mean and standard deviation from the

following table : 6+4=10
sl A AM 2 GM 2 HM. 9efq Sl “1
51 HIF J$ [6et Tferea :
CI - 0-9 10-19 20-29 30-39
CI9 SFAT
Frequency : 29 39 23 14
SEIER)

(c) State and prove addition theorem of
probability when the cases are mutually
exclusive. From a bag containing 4
white and 6 red balls, 3 balls are drawn

at random.

(i) Find the expected number of white

balls drawn.
(i) Find the expectation of drawing at
least 1 red ball. 4+3+3=10
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(e)

A23/180

(10 )

SFEIeR @ISR OG0l e WiE o9 F91 M
o Yol AR=ARE IS =1 @B @1 450
5 S* 651 I8 9 e | 351 76 TR A |

(i) 3N 3 CARA sfdfes erer Tferea |

(ii) FICFS 151 981 T4 (AR NS eromn
Tferaq |

Derive the mean and variance of
binomial distribution. On an average
2% of population in an area suffer from
TB. What is the probability that out of 5
persons chosen at random from this
area, at least 2 persons suffer from TB?

6+4=10
e fFoeR oG S PR Sfrear | g 31X
5TS 2610 2% TR TH W | CIX IR o[
M 5 G TR IqLRPeRd AR G W,
(SR’ IIACHS 2 T AFRA THI RER
Fsifde feae 2

Distinguish between sampling error and
non-sampling error. “Sample survey is
advantageous than complete
enumeration.” Explain . 5+5=10

dfor @ WE AT Fod IT&we N1
o1 oo ATw oA ATHOE H(ES
HfRgre=s 1”7 A1 0
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() Write short notes on stratified sampling

and purposive sampling. 5+5=10

AT Afeor o T AfShER 8o
59 (o1l ferm |

(g9 What are the underlying assumptions of
Karl Pearson’s correlation coefficient?
Find Karl Pearson’s correlation
coefficient from the following :

I Pt Tm RR SRS
SfSqRaPgz 1 SR oI o[ el

fercaba sorama =t e :
Age of husband s+ T 23 - 30352884145 ER53
T TP
Age of wife % 9]l 23T ORINDTERIDIEIITNG I
Fa e

Interpret the result.

Fefre T 40|

(h) State and prove the properties of
correlation coefficient.

Ho3gad 12519 (AMBIAR T& HE AN 341 |

() Explain the main properties of normal
distribution.

YR A% Y CIFRPTR ST 1 |

() Show that in Poisson distribution, mean
is equal to variance.

21 ] @ 2[AD ID9] 1S HF 2351 S = |

* * *
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